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c) condition d) common factor (CO3,R )

d) every (CO2,R )

1. All questions are compulsory.
2. Figures to the right indicate full marks.
3. Use of a simple calculator is allowed.

a? (A) Select the right answer from the following Multiple choice questions. (Any 8)
1) If the face value of shares is rs. 100 at l\oh premium value then market price of shares is

a) II2 b) L2t c) 2Lt d) 1r0 (cor,n ;
2) A person who puchase shares is called

8M

a) Shareholderb) Debenture holder c) creditors d) Debtors (co2,R )
3) A sum of Rs. 50,000 accumulated to Rs. 82,000 after 8 years, in a bank. Find the rate of simple interest p.a.,
which was charged by the bank.

a) L0% B) 8% c) s% D) t2% (CO1,R )
4)

5)

If the payrnents are paid at the beginning of each period, it is known as an
a) Immediate AnnuityB) Life Annuity C) Annuity Cerlain D) Annuity Due (CO1,R )

means series of payments.
a) Annuity B) index numbers c) Interest D) Average (col,R )6) The angles of a triangle are in the ratio 1 1 :10:9 and the respective degree measures are
(a) 770,700,330 (b) 660,600,540 1c; gg0,gb0,120 tA) oo,,sd,+d 1cOz,n;

7) "C" indicates in annuity.
a) condition b) contribution

8) EMI means monthly installment-
a) Easy b) Equated c) extra

is the income of agent.e)
a) interest b) Bonus c) Salary d) corgrmission (col,R )10) When NAV is not given in question it is taken as Rs.
a) 100 b) 20 c) 10 d) s0 (Col,R )

Ql) (B) state whether the following statements are True or False. 7M
1) Market value of shares fixed by government.(CO1,R)
2) In mutual funds there is no risk of loss. (COl,R) |
3) Income from Shares is known as dividend. 1iOi,n)
4) Ratio of equal angle triangles is 1:1:1. (CO3rR)
5) Discount is deduction in the price of goods.(CO2,R)
6) Simple interest is greater than compound interest.(Co1,R)
7) I.P.O. means interest protected opti,on.(CO1,R)
8) RBI controls the company. (COI,R)
9) When face value of shares is not given in question it is taken Rss. 100.(CO2,R)
10) In annuity we have to invest only once in the entire period. (co3,R)

Q2) (A) MR. x,Mr, Y, u.nd Mr. Z are pafiners with ratio 5:3:2in the first six months the company gets profit of
Rs' 300000 and in next six months the company gets profit of Rs. 200000. Find the profit of ;h p;rmer in the
entire year. (CO2 ,A ) gM
Q2) (B) Find three positive numbers in the ratio 3:5:2 suc! that the sum of their squares is equal to 2432.(coi,A) 

oR
Q2) (C) An agent sold a property of Rs. 50,00,000/- and charged 2%o to seller and l%o to buyer. Find his income
and amount received by the seller and paid by the buyer. (COZ:,A) gM
Q2) (D) An article is listed at Rs. 50000, after giving 25o/oTrade discount and l0o/o cash discount he sold the
goods. If the cost was Rs. 30000. Find the profit and profit o/o earnedby seller. (CO3,A ) 7M



Q3) (A) Mr. Eknath invesr Rs. 30000 for 5
annually and quarterly basis. (CO 1,A )
Q3) (B) Mr. Shekhar invest Rs. 50000 and
(co1,A)

Q3) (C) IF C = 20000,tI: +,
(co1,R)
Q3) (D) A loan of Rs. 300000
(ii) FIR methods (CO3,A )
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years @ 10o/o p.a.c.i. find the amount if i,terest is co,rpounded
8M

it becomes Rs. 70000 in 4 years find the rate of sirnpre interest.

15M

_. t4

7M
OR

R: r2o/o. Find Acdurnulate value of annuity on annual and mo,thly basis.

8M
for 5 years @12% p.a.c.i. is'applied by a person. Find his EMI on (i) RBM and

7M

Q1) (A) Mr' Ritesh purchase 25 shares ofj.n. ltd of fv 100 at 135 edch brok 1%. Dividend received 15%. After a fewdays he sold all the shares at mv 140 and paid l%.Findthe profit and RoRoI of Mr. Ritesh. (co2 ,A) gM
Q4) (B) Mr' Salman purchase 200 shares of Aishwariya Ltd. FV 1 00 at 125 per share brokerage paid 2%on purchase.Hc got a 30o/o dividend on shares. Fi,d totar investment and dividend. (co r,u,A 

v vqre L / v vL\ u 
,*

OR
Q4) (c) Mr' Manav purchased 325 units of "TVS india incorporation ltd." at NAV of Rs. 1230.45 with entry load of r%.He gets a 2o% dividend and after 3 months of purchase he sold all the units at Rs. 14g5.25 per unit with exit load of1..5%. Find the rate of returns of investment. (CO3,R,A ) gM
Q4) (D) Mr' Dev started a slP investment for 5 months for Rs. 20000, at NAV of 45, 47,48,46 with entry load of 2%. Findthe average cost and Arithmetic mean. (Co2,4,A) ' ) tv' 'v rL! v ruqu' 

,*
Q5) Write Short Notes (Ariy 3) ,r

l) Distinguish between Simple interest and compound Interest (co2,u )2) Annuity and types (CO3,R ) ,

3) Shares and types of shares (CO t,U )
4) Discount and type of discount (CO4,R )
5) Dividend (CO2,U ) ,

*
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